



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{2} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{50}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) = \frac{113}{180}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{41}{100}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{6} = \frac{77}{12} = 6\frac{5}{12}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \frac{2}{5} = \frac{82}{5} = 16\frac{2}{5}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{3}\right) = \frac{79}{12} = 6\frac{7}{12}$$

$$\left(\frac{3}{5}\right)^{(-2)} - \frac{1}{2} = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(\frac{2}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{16}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{79}{150}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{5}{2} = 2\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{143}{45} = 3\frac{8}{45}$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{5}{2}\right) = \left(-2\frac{1}{2}\right)$$